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1 = HIGHLY ERCDIELE LAND
2 = POTEWTIALLY HIGHLY ERODIBLE LetD CACULATOR VER 1.1
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c I HEL R k T  SLOPE- PERCEM SLOPE--LENGTH  LS- WALUE HEL
SOIL WeRE 7 VALUE VALUE CLASS VALUE VALUE YALUE NIN. HMAX. MIN. MAX. MIN. ®AX. 8T/RK CLASS
ARk A ARAARRARAAR & kAR MhkkA ARRARA ARRRA ARAAAN AARAKA RARKE KAAAKA RRARD RARARA AAARAR RRARA Rakkd  ARARE  AukA
ALFORD 1100 SeERROR I3 0.37 5 P B 75 30 0.1B4 1253 D.e0l 2
ALFORD 1100 SoERROR 180 0.37 £ o I 80 300 0.475 3124 0601 2
ARHIESBURG 1 100 4EERROR 130 0.28 5 0 2 0 400 G.090  D.304 0.794 3
DAk 1100 SoERROR I3 0.2 5 1 4 S0 400 0.105 0.6% 0.694 1
DUKFS 1 Lo ERROR kgl 0.37 s T 10 loo 0044 7.553 0601 2
EEL 1 1o ELERROR 180 0.37 5 0 i b 460 0000  0_ZE4 D.e0l 3
ELSTON 1 140 doERROR 138 0.2 4 Ll 2 0 400 0000 0.304 0.B3% 3
ELSTON 1 100 goERROR 13 6.2 4 2 b 25 400 0,122 13440889 2
FINCRSTLE 1 100 EoERROR gl 0.37 5 0 2 0 400 0000 0.304 0601 3
FLANAGAR (i 43ERROR 130 0.28 5 g 2 D 400 0000 0.304 0.794 3
FOX 1 o0 geERROR g 0.24 4 7| b S0 400 0.183 1344 0.741 2
FOX 1 100 gcERROR E1 I 4 6 12 25 300 0.33% 3.1240.M41 2
FOX 1 160 SeERROR g0 0.37 4 £ 2 0 400 0000 0D.3340.480 3
FOR 1 1Eg 43ERROR 130 0.32 3 6 12 & 300 0.336  3.124 0417 2
GEMESEE 1 100 E6ERROR 18 0.3% 5 0 2 0 400 6.000 0.304 D.601 3
GOSPORT 1 lod 48ERROR 130 0.43 3 58 T 2 150 7.970 34.7720.310 |
HEWNEPTR 1 160 SHERROR 18 0.32 3 % 5 Z 150 2.634 21.829 6.417 1]
HIGH GaP L 100 SoERROR 13 0.37 4 2 b S0 2D 0.1e3  1.063 0.480 2
[FaVA 1 lin 4EERROR s 0.28 5 i 2 i 400 D000 0.4 0.7¥ 3
HARTINSVILLE 1 140 SoERROR 130 0.3%7 5 L] s 0 400 G000 0.304 0.0l 3
HARTINSVILLE 1 Tog SoERROR 13 0.37 L 2 b S0 350 6.1e3  l.zE@AeNl 2
G 1 106 EoERROR By 0.3 4 12 18 5 150 0.992 4.2i50.480 |
HIAKL 1 b 43ERROR g 0.37 3 I 25 250 0.33% 2.6520.30 2
RIaHI 1 100 43ERROR 136 0.37 3 A 2 150 0.962 4.2050.30 1
OCELEY 1 150 SoERROR 180 037 L] J 2 S0 400 0.060 03040681 3
OCKLEY 1 10@ SoERROR 186 0.37 5 2 b S50 350 £.1e3  1.25B 0.0l 2
ORTHENTS 1 B0 ERROR 181 0.43 2 0 B 0 300 0060 1717 0.207 2
ORTHERTS 1 100 43ERROR 180 0.23 ! 209 il 150 4.15% 46554 0.794 1
PALHS 1 100 BoERROR 180 0.01 5 0 Z i 400 D.OGE 0.30422.222 3
FITS 100 ERROR 150 0.0l i B3 20 150 0.056 9.740 0000 1
FLAND 1 100 43ERROR 180 0.32 5 0 Z 0 400 0.060 0.304 D.6%% 3
PRINCETOM 1 100 &0 ERROR 186 0.24 £ g 15 €0 M 6.701 3820 0.926 2
PROCTOR 1 100 43ERROR 180 0.32 g 0 i 0 400 0000 0.304 0.6%4 3
FROCTOR 1100 43ERROR 130 0.32 £ i b S0 350 0.163 1.25B d.e¥4 2
RAGSDALE 1 g ScERROR 186 ©.28 5 i Z D 400 G0 D304 071 3
FAUE 1 i SoERROR tad  0.23 g i 2 0 400 G000 0.204 0794 3
REESVILLE 1 100 SoERROR 180 0.3/ 5 i 2 0 400 0000 0.304 0.e01 3
RODNAN 1 100 JERROR 180 0.2 3 % 25 200 2.945 25.20e 0.667 |
RUSH 1 1eg SoERROR lad  0.37 5 0 z 0 400 D.0G0 0304 0801 3
EUSH 100 SoERROR 130 .37 5 i & B0 408 0.183  1.344 D.e0l 2
RUSSELL 1 lid SoERROR 180 0.37 5 2 b B0 400 0.1e3  1.344 Doebl 2
RUSSELL 1 160 SHERROR 130 0.37 g £ 12 S0 400 0.47% 3607 0801 2
ShELE | ] 4BERROR lag 0.28 5 0 2 0 400 D.060 0.304 0.79+ 3
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